Spare parts and accessories

Pressure control

Type KP

Description Code no. Description Code no.
. Angle bracket 060-105666
ront cover 060-008666
for single control
Bracket
. Screw, M4 X 6
Danfoss Danfoss ront cover 060-011366
60-1059 60-1060 for dual control
Washer
Top cover 060-109766
for single control
Locking plate 060-018966
Top plate with screw
Danfss ]
60-8021 Screw
Plate (1)
Top cover
for dual control DIz Screw (2)
Top plate
60-8022
Screw Seal screw
(2 - for locking 060-105766
O Protective cap = 38
k‘;// for single control 060-003166
Screwed cable
Danfoss Danfoss Protective cap 060-003266 entry, Pg 13.5 060-105966
60-888 A60-889.11 for dual control
Cable entry
i Nut
IP55.EncIosure 060-033066
for single control
Danfoss
60-1301.10
IP55 Enclosure
e e for dual control 060-035066
Danfoss @
60-1302.10
Wall bracket 060-105566
g Bracket
~ Screw, M4 x 6
Danfoss N
60-9002 Danfoss
c0-1064 Washer

© Danfoss A/S (AC-MCI / jmn), 2013-04

DKRCC.PY.CA0.B6.02 / 520H7474




Spare parts and accessories

Pressure control, type KP

Darifi

Code no. Code no.
Description Multi Industrial Description Qty. Code no.
pack pack
Capillary tube, copper iy ~ .
Yain. or 6 mm flare nut 21 mm tube "t Nipple 060-010466
M10x0.75/G Va A
05m — 060-019066 "
Nipple 1
1.0m | 060-004866 | 060-019166 "
15m — 060-019266 " £2 Alu gasket 2
o<
20m | 060-016366 | 060-019366 "
Donfoss 50 mm tube “tail” g:t;ting
o coupling 1 060B121066
0.5m — 060-007066 " .5 fer G
23 steel tube
1.0m | 060-017166 |060-007166 ? o=
R - 1) .
1.5m 060-007266 Weld nipple M10 x 0.75 060-005766
for NH,
with Schraeder valve opener
Union 1
0.5m — 060-000466 "
Nipple,
10m — 060-000566 " OD 6 i > !
150 mm
Capillary tube, steel Vo
not for NH, Y4 in. or 6 mm flare nut .
” @ Alu gasket 1
10m | 060-016766 — °
Danfoss
60-9003
15m | 060-016866 — ganjpmg
evice,
ID=03 2 060-104866
Capillary tube, steel M10 X 075 4E mm
for NH, ' =
&=
1.0m | 060-007866 —
G*/,and M10 x 0.75
Danfoss
£0-9030 1.0m | 060-008266 —
Y50 pcs.
240 pcs.
2 DKRCC.PY.CA0.B6.02 / 520H7474 © Danfoss A/S (AC-MCl / jmn), 2013-04




